Regd.No.E-158

JAMIA ISLAMIA RIYAZUL ULOOM

ANWA TQ.BHOKARDAN DIST.JALNA (M.S) INDIA Mob. 9130707669 + 9422667669



Introduction

Educational Activities Religious & Social Services Needs

Expenses for Year

2022-2023



Principal: Maulana Binyamin Vastanvi Email: binyaminvastanvi@gmail.com

IMPORTANCE OF KNOWLEDGE

To understand the importance of knowledge, it is pertinent to know that when Muhammad Bin Abdullah was elevated to become NABI MUHAMMAD SAL LAL LAHU ALAIHI WA SALLAM (Peace Be Upon Him) the first revelation was revealed to Him was "IQRA BISME RABIKA" means to proclaim "Read in the name of ALLAH"! Here read encompasses the entire process of learning and teaching of knowledge (ilm). It would be appropriate to quote here the most unique and enlighten example found in the history, MUHAMMAD SAL LAHU ALAIHI WA SALLAM proposed to waive the punishment of some of the prisoners if they agreed to teach illiterate brethren...! SUBHAN ALLAH! This clearly indicates the commitment of our beloved prophet MUHAMMED SAL LAL LAHU ALAIHI WA SALLAM towards knowledge. This has inspired hundreds of thousands of Islamic scholars all over the world to undertake the mission with the crystal clear vision of establishing institutions to impart knowledge to the muslim Ummah especially in the remote and backward areas. Riyaz Ul Uloom Humbly would like to disclose here that it is one of them.

We emphasize that education is the best investment as it is the basis for religious, social and economic development as well as transformation. It empowers individuals to realize their own dreams and creative genius. It also foster a learning society that provides spin-off benefits to all those around. It is only thorough education, leading to shared knowledge, we will be able to resolve the challenges that confront the Muslim Ummah globally.

The institutions must help student to understand and develop their potential. Quality education requires good infrastructure, teachers ability and most of all a curriculum that enables a student to explore.

Background That Necessitated The Establishment Of Riyaz Ul Uloom

In the village Anwa, remote area of marathwada in the Maharashtra State.

Muslim in independent india have not been able to overcome the crisis in the areas of education, economy and their faith (Islam). Marathwada region is one of the most backward.region of Maharashtra It is surrounded by hills and mountains. Here majority of muslim belong to tadvi and bhil (bhil) community. It has been observed that due to the influence of locals, these tribes are following the Hindu culture's and traditions. It is hard to indentify them as Complete Muslims. Moreover, some anti Islamic organizations are working hard on them to keep away from following Islam Looking at the ondition and state of the then Muslims in these areas, Jamia Islamia Riyaz Ul Uloom was founded on May 1984, with its sole mission of inviting these tribes back to noble teaching of islam

REVIVAL OF JAMIA

Due to lack of funds and financial support, the Institute was forced to run from the Jamia Masjid of Anwa for nearly 8 long years. The situation became alarmingly critical and we were constrained to close the Madarasa. It was very painful But Al-HAMDULILLAH! By the grace of almighty ALLAH SUBHAN HUWATA ALA, the servant of the Holy Quran and builder of Masajid HAZRAT MAULNA GULAM **MOHAMMED VASTANVI**, the President of Jamia Ishatul Uloom, Akkalkuwa took a bold decision in 1992 to revive the Madarsa. As part of long term plan, a piece of land admeasuring 15 acres of land, 1.5 KM from Anwa village was acquired. As per the plan, the project was executed successfully. At present the Madarsa campus consists of beautiful and towering structures of Masjid Dar-Ul-Quran, Da-Ul-Qutub, Dining Hall well equipped kitchen, Residential quarters for teaching as well as non teaching staff garden and I.TI Industrial Training Institute building

As the facilities in the campus improved correspondingly the strength of students also increased to 650, Thanks to Hazrat Maulana Vastanvi for his continuous and dedicated efforts, the Jamia has become not only a role model but also a centre of guidance hidayat)

ALHAMDULLILAH! With the grace of ALLAL SUBHAN HUWA TA'ALA, collective efforts of Hazrat Maulna Vastanvi donors and well wishers, now the Jamia is put on the road of prosperity and development.

We humbly request you all to pray to ALLAH SUB HAN HU WA TATALA to bestow his special mercy on the Jamia and protect it from the miscreants! Aamin!!





Brief information about important sections of Jamia.

SHOBA-E-DEENIYAT:-

New students are admitted to this class. Since new comers need counseling for proper guidance, the teachers are well cualified and exoerienced. The students learn basic lessons in Marathi (local language), English and simple Mathematics. During this period, the students learn to recite the Holy Quran with grammar (Tajweed) Strengths: There are **215** students.

Shoba-E-Nazerah:-

The students who complete Deeniyat course are eligible for admission to Nazerah class. Duration of this class is 2 years. They attend the class of modern education along with islamic studies. They learn to perform Salat E Janaza, Salat E Idain and fundamentals of Islamic education They learn to improve the recitation of the Holy Quran. If they wish and have the ability could become a Huffaz within a short span of time

Total No. of students who successfully completed Nazerah Quran are 1304.

Shoba-E-Tahfeezul-Quran:-

The students who are capable and wish to memorise the quraan are then enrolled are for Hifz. This course covers Hifz with Tajweed, knowledge of fiqa'h consists of Bahishti samar, Urdu literature, Chahal ALLAHUMMA,

Currently there are **123** students. In Hifz class.

Students who have qualified to become Huffaz last year :- 20

Total No. of students who became Huffaz :- 457

Shoba-E-Aalimiyat:-

The students who completed the course in Hifz and Nazerah are eligible to enroll for this course. They learn

Arabic and Farsi grammar along with classical Arabic language. They become proficient: in understanding the meaning of the Holy Quran, Hadeeths and Fiqah.

Currently There are :- 100 students The No. ot students completing the course during the last current academic year :- 07

Total No, of students who became Aalim: - 304

Shoba -E-Taj Weed

ALLAH SUB HAN HU WA TATALA ordered us to recite the Holy Quran with Tajweed and Tarteel

Our beloved Prophet SAL LAL LAHU ALAHI WA SALLM ordered us to strictly follow the rhythm of Arabs while Reciting the Holy Quran. In order to ensure the highest standard of learning the Holy Quran. highly qualified scholars appointed For this khidmat

Weekly seminars are being conducted to improve/ enhance the level of confidence in these students. Which helps them to present their recitation to the Ummah in Salaah and programmes.

They also practice Tarteel, Tajweed, Hadar Khutbaat-E-Juma, Adaan and Iqama'h etc.

LIBRARY:- MAKTAB -E-VASTANVI



There is a well known quote, "when you want to test the level of knowledge of any intellectual, you should visit the library of the concerned Institute.....!"

We can improve our knowledge by reading the books written by well known Islamic Ulema. Atquiya, Udba, Fuqha, Muffassirin and Muhddiseen that is why the Jamia islamia Riyaz-Ul-Uloom tries its best to collect high standard books from far and wide.

At present there are around 5150 books covering various subjects and topics

SHOBA-E-KHATTATI (CALLIGRAPHY)

Beautiful handwriting is the ornaments of Human beings! It is the indivisible part of the literature! Therefore, special attention is being given for calligraphy

NO CANTON CONTRACTOR DE CONTRA

SHOBA-E-MIHAN

(The Department of Modern Education) (ITI COLLEGE)







The large population of the Muslims has been deprived from the Islamic education. Moreover in the case of modern education standards are very low. Even if one completes his basic school education he fails to continue education further due to his families poor financial condition. In view of this fact, the Jamia has introduced some short term vocational courses for the Muslim students through the Central as well as State Government approved 1.T.I.

The second batch of 21 students completed their 2-year course as an electrician and fitter. And since then, thank God these two courses are being completed.

NO CANTON CONTRACTOR DE LOS ASTRACTOR DE LOS ASTRACTOR DE LA CONTRACTOR DE LA CONTRACTOR DE LA CONTRACTOR DE L

Electrician Course

Electrician. Students This Year :- **76**Total Electrician Completed Students so far :- **298**

Fitter Course

Fitter. Students This Year :- 32
Total Fitter Completed Students so far :- 126

JAMIA SCHOOL

01)HĄJJAN.HAWWABIBI URDU PRIMARY SCHOOL 02)HĄJI ISMAIL VASTANVI HIGH SCHOOL 03)M.G.M.VASTANVI URDU SCIENCE. JR. COLLGE





As per the Maulana Munazir Ahsan Gilani, it is essential to establish the institutions of modern education in the religious atmosphere as well If we fail to realize our responsibility now, our future generation will be deprived of living a tension free life Therefore, we introduced primary secondary and junior college institutes in the campus.

Primary Students:-108 High School Students:-95 Jr. College Strength:-85

S.S.C. Year Students :- **59** H.S.C. Year Students :- **45**

Total S.S.C Completed Students so far :- 376 Total H.S.C. Completed Students so far :- 299

M.VAHED HOMEOPATHIC MEDICAL COLLEGE & HOSPITAL





Alhamdulillah Riyazul Uloom Welfare Is Located Where Almost Fourty Villages Are Surrounding It, In Which Trust Falahi Is Working.

Caring health for these poor villagers, M.VAHED HOMEOPATHIC MEDICAL COLLEGE & HOSPITAL was established and was approved by the Government of Maharashtra, in which the medical Facilities are provided on reasonable prize. This hospital is open 24 hours in the service of needy and poor people.

There are O.P.D, IPD, E.C.G, Digital X-ray lab, and other medical Facilities are available in this hospital.

Every day almost **50** to **60** patients are getting their treatment in this hospital, as well as the operation theatre has been prepared, The staff **20** is working day and night in the service of patients.

May Allah accept the services and sacrifices of the Director of this Jamia

Note:- The B H M S college will be started very soon, in the supervision of this hospital.

SHOBA E-MATBAKH (KITCHEN)







Hazrat Maulana G.M Vastanvi has been strictly following the principle of not worrying about savings but striving vigorously to avoid unnecessary wastage of food!

The Meals Provided To The Students Should Be Of The High Standard So That The Same Food Can Be Offered To The Guests. The Daily, Monthly And Yearly Expenditure Of Food Is Rs. 12,224/= Rs. 3,66,737/= And Rs. 40,34,109/= Respectively.

Shoba E- Makateeb

The Jamia has established makateebs in the villages around Anwa with specific emphasize to eliminate weaknesses in their faith and actions which is developed due to illiteracy. We provide guidance for teaching basic Islamic education and the Holy Quran.

AL HAMDULILLAH During the current academic year 143 students and in all 7,450 student completed Nazerah Quran.

The monthly and Yearly budget of Makatib section is Rs. 65,075/- and 7,80,900/- respectively.

SHOBA-E-RIFAH-E-AAM

(Department of Humanitarian Assistance)

The Jamia provides regular financial assistance to the deserving widows and poor Childern. (2) Financial support for the marriages of poor Muslims. (3) Medical camps are being held for deserving poor patients. (4) Arrangements were made for Iftar during the holy month of Ramdan in 50 villages and supplied ration to 300 widows. (5) 520 bore wells were dug where ever there was acute shortage drinking water. (6) Distributed the meat of 200 slaughtered animals among the deserving poor Muslims during Idul Adha.

SOCIAL WALFARE

01) CLEAN DRINKING WATER

02) WIDOWS PENSION PROGRAM

03) STABLISHMENT OF ISLAMICCOMMUNITY CENTER

04) NUTRATION PROGRAM

05) BUILD A MASAJID

06) RELIEF WORK FOR FLOOD AND EARTHQUAKE VICTIMS

07) VOCATIONAL TRAINING

08) SPONSORSHIP & SCHOLERSHIP

09) IFTAR PROGRAM

10) QURBANI

There are many human beings who live without basic necessities. There are many virtues to aid the helpless human beings from the Almighty. Today giving a penny will be the investment for the life of Hereafter and also the reward of helping others in this life too. Help is necessary in reaching the right people. JamiaRiyazulUloomAnwa is playing an important role to reach to the needy and helpless human beings on behalf of the Donors.

1) CLEAN DRINKING WATER







India has more people in rural areas- 63.4 million – living without access to clean drinking water than any other country, According to Wild water, State of the World's Water 2023.

JamiaRiyazulUloomAnwa is bringing safe drinking water to India's far flung areas through its clean drinking water program.

Jamia has completed 523 projects to provide clean drinking water in 16 village of India through digging, installing & constructing Bore Wells, Water Hand Pumps & Water Tanks respectively.

Total number of completed projects: **523** Last Year we constructed **520** Water Hand Pumps.

Rs. Indian Rupees	Rs. Indian Rupees GBP. British Pound		ZAR. South African		
55,695	£.531	\$.667	R.12,599		

2) WIDOWS PENSION PROGRAM







Widows condition in India is pathetic. They live alone and in poverty after the death of their husband. In spite of Supreme Court ruling, state govt. are not interested in welfare of widows.

Jamia has running Widow Pension program as per its capacity to support them and improve their quality of live.

At present 1000 poor widows (Beva) are registered in our Widow Pension program. We are making payments to them on a monthly basis via their legal representative/ by hand / by money order through post to their addresses. Apart from this we are helping them by giving special funds to celebrate the Holy Month of Ramadan. We are keeping complete account of the beneficiaries.

Total number of beneficiary: 1000

03) ESTABLISHMENT OF ISLAMIC COMMUNITY CENTER (MAKATIB)

Islam is the second largest religion in India with 172 million people as 2011 census.

Islamic community center play a vital & constructive role in promoting humanity, morality, spirituality & providing support to weaker sections of society & making good citizen to the country. Community center provide place for social gathering, mass awareness, community prayer, cultural activities & social issues etc.

Jamia has established 50 community centers in backward areas for poor people to cater the need of poor communities for social gathering, awareness generation, pre-primary education & developmental activities.

Number of Completed projects 50

Build a Maqtab

Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
3,68,692	3,68,692 £. 3517		R. 83407		

Run a Maqtab/Masjid

Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
84000	£. 801	\$. 1007	R. 19002		

4) NUTRATION PROGRAMS (FOOD KITS, IFTAR & QURBANI KITS)

Despite the good economic performance, with over 190.7 million people are undernourished & food insecure in India (FAO Estimates 2017). By this measure 14.5 % of the population is undernourished & food insecure in India. India's rank in Global Hunger Index 2017 is 100 out of 119 countries.

Jamia has distributed 1000 food kits through their different projects and addressed this challenge as per its capacity but much work remains to be done to eradicate hunger from India.

NO CANTONIO DE LO CA

Total No. of beneficiary for Food Kits: 5000 Peo

5) BUILD A MASJID

(Last year we built 11 Masajid Complex)





Since the financial condition of Muslim in the villages around Anwa is very bad, the Jamia has been supporting them to build Masajid where ever it is required. AL HAMDULILLAH! So Far we Have built **71** Masajid

Many of the Masajid in Marathwada, Maharashtra, India are in poor state of repair and lack basic facilities such as toilets, water and sanitation.

With your generous donation and support the masajid Rebuilding Programme has been very successful.

Masjid complexes include a Masjid, Classrooms, Imams House, Toilets, Washroom and Water.

The classroom also acts as a community hub from where we deliver our other programmes for the local community.

Total number of completed Masajid: 71

Build a Masajid from

Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
13,62,166	£ 13,000	\$ 16,331.6	R 3,08,155		

Build a House for an Imam

A I	Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
	429,606	£. 4,098.93	\$. 5,150.72	R. 97,187.2		





6) RELIEF WORK (FOODS/CLOTHES & MEDICINES KITS) FOR FLOOD AND EARTHQUAKE VICTIMS

Jamia & its founder MaulanaGulam Mohammad Vastanvi is committed to help the poor & needy people without any discrimination.

Jamia successfully distributed of 1000 Food kits along with medicines amongst Marathwada, Maharashtra flood victims. After that Jamia has again realized the need of warm clothes & Blankets for them who lost everything in flood and were living without houses & clothes, suffering seasonal illness & harsh cold. So Jamia under its welfare department, distributed 3000 clothes kits comprising on 6 clothes & one Blanket for women, children & old age people with the support of generous volunteers, Teachers, Students & well-wishers of Jamia in 14 villages of Jalna&Buldhana Districts in.

Total No. of beneficiaries: 1000 People

7) VOCATIONAL TRAINING (OPTICAL, BINDING, TAILORING, BEAUTICIAN COURSE ELECTRICIAN, PLUMBER, FITTER & WELDER)

Vocational education play a vital role in human resource development of the country by creating skilled manpower, increasing employment opportunities & enhancing quality of life.

"According to the occupational profile of India's workforce, 90% of the workforce population is employed in skill-based jobs, whereas more than 90% had no exposure to vocational education or training."

Jamia running Vocational training programs for in campus students & out camps or rural students in OPTICAL, BINDING, TAILORING BEAUTICIANELECTRICIAN, PLUMBER, FITTER & WELDER etc.

8) SPONSORSHIP & SCHOLERSHIP (FOR ORPHANS AND POOR STUDENTS)

There are an estimated 200 million children worldwide that have experienced this loss. Many of these children will come from already disadvantaged backgrounds.

So losing a parent can mean that access to education, the protection of shelter, the sustenance of nutritious meals and the chance for a secure future all become an impossible dream. This is why the responsibility of care for the orphan falls on all of us.

Jamia running a sponsorship program for orphans & 50 orphans have been benefited from this program.

Scholarship is an incentive as well as encouragement to meritorious students. Jamia gives special emphasis to award scholarships to the students who are pursuing in professional courses keeping in mind their financial condition & social background. This program provide an opportunity to those who were not able to afford the cost of professional courses.

Total No. of beneficiary: 600 students 50 orphans

9) IFTAAR PROGRAMME







Iftari Packs: The iftar hampers provide families with food for sehri and iftar during the blessed month.

Masjid Iftaaris: provide cooked meals prepared by the locals at the masjid for a collective Iftari. Last Ramdhan we provide over 10,000 cooked iftari meals in 50 villages.

This is a great programm which encourages the local people from the villages to attend the Masjid for Prayers and Iftari.

Iftar Packs: We Provided 20,000 Iftar packs.

Rs. Indian Rupees GBP. British Pound		USD. US Dollar	ZAR. South African		
2550	£. 24.32	\$.30.57	R. 576.87		

10) QURBANI





For many Indian meat is a luxury which they can not afford and very much look forward to this festive season.

Our Qurbani programme is well orginised which reaches out to many poor families and individuals in the most remote areas at this festive time. Last year we delivered 200 Qurbanis providing meat to almost 5000 families.

ANTAK PENGANJAK PEN

Qurbani for got

Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
9000	£. 85.87	\$. 107.90	R. 2,036.02		

Qurbani for Cow(Large)

	Rs. Indian Rupees	GBP. British Pound	USD. US Dollar	ZAR. South African		
Ų,	12,000	£. 114.49	\$ 143.87	R. 2,714.69		

SHOBA-E-MOHASEEBI

(Department of Accounts)

In order to run the huge empire of Jamia, it is imperative to collect funds. Similarly it is our duty to strictly monitor the expenditure to ensure effective utilization of the funds. During the current financial year, expenditure of the Jamia was Rs. **46,879/-** per day, Rs. **14,06,376/-** per month and Rs. **1,6876,523/-** per year.

Objectives (Agaraaz wa Maqasid)

The Jamia has undertaken an initiative for following objective:

(1) To propagate Islamic faith and knowledge. (2) To popularize recitation of the Holy Quran with Tajweed. (3) To establish makateeb for eliminating irreligious activities. (4) To provide religious atmosphere and simultaneously encourage our children to study modern education. (5) To provide Government approved short term vocational training courses to youths to eliminate unemployment. (6) To dig bore well for drinking water in slum areas. (7) To build Masajid. (8) To provide regular financial assistance to widows and poor families. (9) To rovide financial support to deserving (must'hiqeen) patients and for marriages of poor couples. (10) To build houses for deserving Islamic scholars.

Sponsor Ship Program

The sponsorship cost for one student one widow one bore-well and one worship resting place. The cost in INR GBP and US\$ for 1 year and for the full course period assuming student successfully completes the each of the course Year. Section

XIXXXXXXXXXXXXXX		Rs. Indian Rupees		GBP. British Pound		ZAR. Sou	th African	USD. US Dollar	
Section	Period	1 Yr Course	Full Course	1 Yr Course	Full Course	1 Yr Course	Full Course	1 Yr Course	Full Course
Diniyat Primary Student	03 Years	10000	30000	95.41	286.234	2262.24	6786.72	119.87	359.682
Memorizing (Hifz) Student	03 Years	15000	45000	143.117	429.351	3393.36	10180.1	179.841	539.523
Arabic (Aalimiyat) Student	08 Years	15000	120000	143.117	1144.94	3393.36	27146.9	179.841	1438.73

The Proposed Budget

(for the future expansion)

Sr. No.	Description of Project	Amount in Rs. Lac (Approx.)
01	Construction of Library Building	10.00
02	Construction of Water Tank	27.00
03	Construction of Staff Quarters for 20 Teachers	50.00

JAMIA ISLAMIA RIYAZUL ULOOM

AT.A GLANCE

Our Patron

Maulana Gulam Mohammad Sahab Vastanvi

Sr. No	Names and numbers of different co	ourses	Sr. No	Names and numbers of different courses		
01	Year Of Establishment	1984	13	No.Of Makatib	50	
02	No.Of Student	650	14	No.Of Student In Makatib	1880	
03	No.Of Teachers (Jamia)	41	15	No.Of Nazera Quran	143	
04	No.Of Teachers (School) 14		16	Nazera Quran Completed Student From Makatib		
05	No.Of Labours 24		17	No.Of Boar Well In Villages		
06	No.Of Huffaz	362	18	Place Of Iftar Managed	50	
07	No.Of Nazera Quran	1172	19	No.Of Masajid	72	
08	No.Of Aalim	244	20	No.Of Animal Sloughed At Eid-Azha	200	
09	No.Of Qurra	215	21	No.Of Widows (Food Provided)	300	
10	No.Of Students	103	22	No.Of Student (Primary. School)	108	
11	(Electrician Certificate)	298	23	No.Of Student (High School)	95	
12	(Fitter Certificate)	126	24	No.Of Student (Junior College)	85	

HFIZ ISHAQUE VASTANVI

KITCHEN EXPENSES DETAILS

YEARLY 2022 TO 2023

Sr. No	Particulars		Rate	Monthly Need	Amount INDIAN	Amount RAND	Amount GBP	Amount USD	Yearly Need	Amount INDIAN	Amount RAND	Amount GBP	Amount USD
01	Wheat	گيهول	25	1800 kg	45000	R. 10191	£.427	\$.539	18 Ton	450000	R. 101910	£.4277	\$.5397
02	Rice	حاول ا	20	2400 kg	48000	R. 10870	£.456	\$.575	24 Ton	480000	R. 108704	£.4562	\$.5757
03	Oil	تيل	110	810 kg	89100	R. 20178	£.846	\$.1068	8100 kg	891000	R. 201782	£.8469	\$.10686
04	Turmeris Powder	بلدى ياؤڈر	190	20 kg	3800	R. 860	£.36	\$.45	200 kg	38000	R. 8605	£.361	\$.455
05	Cumin seed		640	20 kg	12800	R. 2898	£.121	\$.153	200 kg	128000	R. 28987	£.1216	\$.1535
06	Salt	المك الم	7	250 kg	1750	R. 396	£.16	\$.20	2500 kg	17500	R. 3963	£.166	\$.209
07	Garam Masala	گرم مسالہ			14748	R. 3339	£.140	\$.176		147480	R. 33399	£.1401	\$.1768
08	Tamarind	املی	140	10 kg	1400	R. 317	£.13	\$.16	100 kg	14000	R. 3170	£.133	\$.167
09	Sugar	£	38	350 kg	13300	R. 3012	£.126	\$.159	3500 kg	133000	R. 30120	£.1264	\$.1595
10	Tea Powder	چائے پی	435	30 kg	13050	R. 2955	£.124	\$.156	300 kg	130500	R. 29553	£.1240	\$.1565
11	Milk	כננס	70	450 Ltr.	31500	R. 7133	£.299	\$.377	4050 Ltr.	283500	R. 64203	£.2694	\$.3400
12	Toast		55	188 kg	10340	R. 2341	£.98	\$.124	1692 kg	93060	R. 21075	£.884	\$.1116
13	Chilli Powder	مرچ پاؤڈر	600	65 kg	39000	R. 8832	£.370	\$.467	650 kg	390000	R. 88322	£.3707	\$.4677
14	Coriander Powder	وهنيا پاؤڈر	160	60 kg	9600	R. 2174	£.91	\$.115	600 kg	96000	R. 21740	£.912	\$.1151
15	Ginger	اور ک	140	90 kg	12600	R. 2853	£.119	\$.151	900 kg	126000	R. 28534	£.1197	\$.1511
16	Garlic	لبن	80	100 kg	8000	R. 1811	£.76	\$.95	1000 kg	80000	R. 18117	£.760	\$.959
17	Onion	الياز ا	20	280 kg	5600	R. 1268	£.53	\$.67	2800 kg	56000	R. 12682	£.532	\$.671
18	Tomato	ثماثر	20	350 kg	7000	R. 1585	£.66	\$.83	3500 kg	70000	R. 15852	£.665	\$.839
19	Green Chilli	りついり	40	85 kg	3400	R. 769	£.32	\$.40	850 kg	34000	R. 7699	£.323	\$.407
20	Green Coriander	كو تقمير	50	30 kg	1500	R. 339	£.14	\$.17	300 kg	15000	R. 3397	£.142	\$.179

NO CANTONIO DE LOS COMO CANTONIO DE LOS CANTONIOS DE LOS COMO CANTONIOS DE LOS CANTONIOS DE LOS CANTONIOS DE L

21	Wood Expense	لکڑی	2.5	9720 kg	24300	R. 5503	£.230	\$.291	97.2 Ton	243000	R. 55031	£.2309	\$.2914
22	Peanut Pulse	منگ وال	110	120 kg	13200	R. 2989	£.125	\$.158	1200 kg	132000	R. 29893	£.1254	\$.1583
23	Tour Pulse	تور دال	143	150 kg	21450	R. 4857	£.203	\$.257	1500 kg	214500	R. 48577	£.2038	\$.2572
24	Gram Pulse	چنا دال	65	90 kg	5850	R. 1324	£.55	\$.70	900 kg	58500	R. 13248	£.556	\$.701
25	Peanut	شينگ دانه	125	50 kg	6250	R. 1415	£.59	\$.74	500 kg	62500	R. 14154	£.594	\$.749
26	Lentils Pulse	موروال	90	90 kg	8100	R. 1834	£.76	\$.97	900 kg	81000	R. 18343	£.769	\$.971
27	Gram Sabit	چناسابت	45	30 kg	1350	R. 305	£.12	\$.16	300 kg	13500	R. 3057	£.128	\$.161
28	Lentils Sabit	مسورسابت	90	30 kg	2700	R. 611	£.25	\$.32	300 kg	27000	R. 6114	£.256	\$.323
29	Matha Sabit	مٹھ سابت	36	30 kg	2580	R. 584	£.24	\$.30	300 kg	25800	R. 5842	£.245	\$.309
30	Coarsly Ground Wheat	(6)	44	10 kg	440	R. 99	£.04	\$.05	100 kg	4400	R. 996	£.41	\$.52
31	Coconut Powder	کھوپر کس	160	35 kg	5600	R. 1268	£.53	\$.67	350 kg	56000	R. 12682	£.532	\$.671
32	Gram Flour	بيس آڻا	70	20 kg	1400	R. 317	£.13	\$.16	200 kg	14000	R. 3170	£.133	\$.167
33	Butter Milk	وهی	60	80 Ltr.	4800	R. 1087	£.45	\$.57	800 Ltr.	48000	R. 10870	£.456	\$.575
34	Meat	گوشت	110	372 kg	40920	R. 9267	£.388	\$.490	3720 kg	409200	R. 92670	£.3889	\$.4908
35	Egg		5.6	600 Nos	3360	R. 760	£.31	\$.40	6000 Nos	33600	R. 7609	£.319	\$.403
36	Brinjal	بيگل	10	180 kg	1800	R. 407	£.17	\$.21	1800 kg	18000	R. 4076	£.171	\$.215
37	Potato	آلو ا	15	250 kg	3750	R. 849	£.35	\$.44	2500 kg	37500	R. 8492	£.356	\$.449
38	Bottle gourd	رود هيه	20	150 kg	3000	R. 679	£.28	\$.35	1500 kg	30000	R. 6794	£.285	\$.359
39	Nirma Powder	نرما پاؤڈر	65	150 kg	9750	R. 2208	£.92	\$.116	1500 kg	97500	R. 22080	£.926	\$.1169
				KANXAX X			NOXXXX		SYMMY	XXXXXX		ZXXXXI	XXXXX
T	TOTAL EXPENSES				532088	120500	5057	6381		5279040	1195528	50178	63317

Food/ Kitchen Expenses	Rs. INDIAN	Rand. South African	GBP. British Pound	USD. US Dollar
Daily	Rs. 17736	R.4016	£.168	\$.212
Monthly	Rs.532088	R.120500	£.5057	\$.6381
Yrarly	Rs.5279040	R.1195528	€.50178	\$.63317

SE CARLOSE CAR

JAMIA EXPENSE DETAILS

Sr. No.	Particulars	Monthly Expense INDIAN RS.	Monthly Expense ZAR(Rand)	Monthly Expense £ GBP	Monthly Expense \$ USD .	Yearly Expense INDIAN RS.	Yearly Expense ZAR(Rand)	Yearly Expense £ GBP	Yearly Expense \$ USD .
01	Teachers Salary (Jamia)	448556	R.101434	£.4379	\$.5380	5382676	R.1217211	£.51352	\$. 64571
02	Teachers Salary (School)	139989	R.31656	£.1335	\$.1679	1679875	R.379879	£.16026	\$.20151
03	Labours Salary	106387	R.24057	£.1014	\$.1276	1276648	R.288695	£.12179	\$. 15314
04	Electricity & phone	23851	R.5393	£.227	\$.286	286213	R.64722	£.2730	\$.3433
05	Laundry Equipment & Labor	52000	R.11759	£.496	\$.623	624000	R.141108	£.5953	\$. 7485
06	Stationary	20692	R.4679	£.197	\$.248	206926	R.46793	£.1974	\$. 2482
07	Traveling expenses	44635	R.10093	£.425	\$.535	535619	R.121122	£.5109	\$. 6425
08	Guest Expenses	7032	R.1590	£.67	\$.84	77356	R.17492	£.737	\$.927
09	Differnt Expenses	28516	R.6448	£.272	\$.342	342195	R.77382	£.3264	\$.4105
	TOTAL AMOUNT	871658	R.197112	£.8315	\$.10456	10411508	R.2354406	£.99328	\$.124897

Sr.No.	Name	Indian Rs	ZAR(Rand)	£ GBP (Pound)	\$ USD (Dollar)
01	Kitchen Expense	5279040	R. 1193776	£. 50363	\$. 63327
02	Jamia Other Expense	10411508	R. 2354406	£. 99328	\$. 124897
03	Previous Year Dues	1185975	R. 268190	£. 11314	\$. 14227
Jamia Total Expenses		16876523	R.3816373	£. 161007	\$. 202452

AN THE CANTONE CANTONE

Markaz Name :- JAMIA ISLAMIA RIYAZUL ULOOM ANWA

At.Post.Anwa Tq.Bhokardan Dist.Jalna (Maharashtra)431112

TOTAL EXPEMSES YEARLY 2022 TO 2023

Total Student 650 Orphanage 30 Jamia Teachers 42 School Teachers 14 Jamia Non Teachers 24 Total Makatib 49

Mob.No. 9130707669 Email: binyaminyastanyi@gmail.com

ROTEER	Mob.No. 9130101009 Email : binyanmivastanvi@gman.com										
Sr. No	Month	1	Jamia Teachers & Non-Teachers Salary	School Teachers Salary	Kitchen Expenses	Different Expenses	Jamia Constru- ction	Total Expenses	Jamia Anwa Income	Jamia Akkalkuwa Income	Total Income
	Previous Yes Dues :-			1244931	1185975		2430906	ALKAN KAN	SACKLAS SACK		
	March	2022	515883	129167	654170	86137	00	1385357	132927	00	132927
2+3	April To June	2022	1596446	376406	381421	954515	00	3308788	9069827	00	9069827
5	July	2022	622140	145999	547979	115755	00	1431873	100959	00	100959
6	August	2022	617279	143433	394279	145645	00	1300636	60641	00	60641
7	September	2022	588156	154999	412475	59049	00	1214679	57418	00	57418
8	October	2022	552050	128250	101868	124145	00	906313	102247	00	102247
9	November	2022	523545	150953	56070	80575	16000	827143	53058	00	53058
10	December	2022	541080	148550	395875	95180	00	1180685	36186	00	36186
11	January	2023	547575	148618	584609	209518	3500	1493820	61093	500000	561093
12	February	2023	555170	153500	505363	182290	00	1396323	120800	00	120800
Tot	Total Expenses 6659		6659324	1679875	5279040	3238784	19500	16876523	10295156	500000	10295156

School Name

Hajjan.Hawwabibi urdu Primary School ! Haji Ismail Vastanvi High School ! M.G.M.Vastanvi Urdu Science. Jr. Collge
1-First, 03 2-Second, 05 3-Third, 04 4-Fourth, 03 5-Fifth, 13 6-Sixth, 21 7-Seventh, 22
8-Eighth, 37 9-Ninth, 36 10-Tenth, 59 11-Eleventh, 40 12-Twelfth, 45

JAMIA ISLAMIA RIYAZUL ULOOM ANWA

DAWAT PROGRAM LIST

No	Name	Rs. INDIAN	Rand. South African	GBP. British Pound	USD. US Dollar
1	Zarda & Daal Gosht & Rice	18000	R. 4088.32	£. 171.90	\$. 215.71
2	Biryani & Shola	42000	R. 9539.42	£. 401.11	\$. 503.33
3	Gosht & Rice	16000	R. 3634.06	£. 152.80	\$. 191.74
4	Khichda	15000	R. 3406.93	£. 143.25	\$. 179.76
5	Manda & Gosht	35000	R. 7949.52	£. 334.25	\$. 419.44
6	Kadi Khichdi	9000	R. 2044.16	£. 85.95	\$. 107.85
7	Vegetable & Khichdi	8000	R. 1817.03	£. 76.40	\$. 95.87
8	Vegetable & Roti	8000	R. 1817.03	£. 76.40	\$. 95.87
9	Egg Kari & Roti	11000	R. 2498.42	£. 105.05	\$. 131.82
10	Gosht & Roti	15000	R. 3406.93	£. 143.25	\$. 179.76

RIYAZUL ULOOM WELFARE TRUST

Account Detail

UNDER MANAGEMENT: Jamia Islamia Riyazul Uloom Anwa

MNNY	<u> </u>								
	SBI Bank Ditails								
热	Donation Details Indian Donors Can San Send Their Donations To								
01	Name :- RIYAZUL ULOOM WELFARE TRUST Account Number :- 38594138962 Bank Name :- STATE BANK OF INDIA								
	Baranch Name . SHIVNA Branch Code 22001 IFSC.Code :- SBIN0022001								
	AXIS Bank Ditails								
	Donation Details Indian Donors can san send Their Donations to								
02	Name:-RIYAZUL ULOOM WELFARE TRUST								
	Account Number :- 920020066568075 Bank Name :- AXIS BANK								
	Baranch Name . ANWA Branch Code 2664 IFSC.Code :- UTIB0002664								
	MGB Bank Ditails								
	Donation Details Indian Donors can san send Their Donations to								
03	Name :- RIYAZUL ULOOM WELFARE TRUST								
	Account Number :- 55207055695 Bank Name:- MAHARASHTRA GRAMIN BANK								
	Baranch Name . ANWA Branch Code 5207 IFSC.Code:- MAHG0005207								
54XV /	A CALLACE A LA CESTA								

NO CANTON CONTRACTOR DE LOS ASTRACTOR DE LOS ASTRACTOR DE LA CONTRACTOR DE LA CONTRACTOR DE LA CONTRACTOR DE L

PHOTO GALLERY











AND ENGLANDES EN CANDES CANDES













AND ENGLANDE REPORTED AND ENGLAND RESERVED AND ENGLAND DE SERVED REPORTED AND ENGLAND DE SERVED AND ENGLAND DE













AND ENGLANDES EN CANDES CANDES













AND ENGLANDES EN CANDES CONTROL AND CANDES CONTROL CANDES CONTR









AN TENENCIANTE PARTE AND TENENCIANTE PARTE PAR

FUTURE PALANING

AND ENGLANDES EN CANDES CONTROL AND CANDES CONTROL CANDES CONTR

















AND ENGLANDES EN CANDES CONTROL AND CANDES CONTROL CANDES CONTR



APPEAL

from Khadimul Quran Maulana Gulam Mohammed Vastanvi

As we all know very well that the Deeni Madaris are the strong forts to safeguard the Holy Quran and Aahadeeth. These institutions are the sources of propagating the Islamic faith Supporting financially to these Madaris is as good as publishing the Holy Quran and Hadeeth! Jamia Riyaz Ul Uloom, Anwa the branch of Jamia Ishatul Uloom, Akkalkuwa.visit this Jamia very often. Similarly, renowned scholars from Jamia Akkalkuwa visit the Jamia for inspection. declare here with full confidence that Jamia Anwa has been progressing in imparting quality education. The budget for the current financial year is more than Rs. 107.00 Lac. Majority of Muslims in this area are farmers. Due to low rain water, the area always faces acute shortage of water. That is why, the Muslims are financially very weak. In view of the above facts, humbly appeal to all the well wishers as well as the donors to extend their support to the Jamia.

Ghulam Mohd. Vastanvi